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L Answer all questions from 1 to 6 each L 1 m6®~ 6 nJ6>CO<J2'6~ O(j)~O 
. 

question carries 1 score. (6xt=6) 

1. Which one of the following is an 

intangible asset of a business? 

a) Cash at bank 

b) Stock 

c) Trademarks 

d) Loose tools 

2. Transactions between owner and 

business are recorded separately due to· 

................ accounting concept. 

3. L.F. column in the journal is filled at the 

time of-

a) Balancing. 

b) Posting. 

c) Recording. 

d) Endofyear 

4. Which item will decrease the overdraft 

as per Pass Book? 

a) Interest on fixed deposits. 

b) Interest on overdraft. 
.. 

c) Insurance premium remitted by bank. 

d) Bank charges. 

CB.!2.J oe l611B ci>cS6> Ao ~ mm m 6'> m II A an 6ce:, . 

O(i)~ o CB.!2.J oe l6IIB<i> cS6> 60 1 m>"CBce:,o@ 

(6xt=6) 

1. 63 m 6 mfl cro1 m(Tl.)16> ~ cmo e ~w ~ 

2. 

ar@JCU!1dh~c$ ~006>~S6on(IS)" Cl@® 

nffi) 6llJOe.i1e.J~ o.J6TT>o 

m>1 )· <Sl~CW" QlO<Oc.86';' 

cw1) ei6cru" s6ci6cro" 

~smounm6o mflcru1mcro6o anam1ei6~ 

~So.JOSc!,dhOO lo.J<S<IS> ~dhmo<nll 

<Sct>6lJ6>~S6Cffl>6on<m" Cl@® CITT0cB6)"06mJow 

ar@) ~W l n.Jdh0ct>Ql06m", 

3. <Sa?«>6TT>ei16'>eJ L.F. <SdhOi<ffYm1<$ 

(3(1)6lJ~Sl,<ffYml,CTn® O(j)CJ<;cjOOO ? 

4. 

o©) crumidhct>1cB6) 6Qcru odo 

6ll11) n.JClS>1cB6)6(3~0ci6 

cru1) !Xct>6lJ6>~ Sl,(m)6 CJCTl.l Odo 

cwl) ruro~orucroamo 

n.Jocru" 6llJ6cB6)" ln.Jdh0<0m6~ 630rum 

lCW::>n!l"ff dh6o~6cm ~mo Cl@®" ? 

6ll11) 63::>rum LMonn"A" n.Jeflw 

cru1) 6n.J::>e.i1m& mlcm6o tn.11m1cwo cms~arl' 
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5. Bill of exchange is drawn by -

a) Debtor 

b) Creditor 

c) Buyer 

d)Bank 

6. The statement which shows financial 

position of a business is .................... . 

6. 

n.o1 ) 6llJ O !B:," 

63ct>6 milrro1mrro16>~ rroocru(rn))1cfb cruo1cml 

<tmJ01CWOOO Cln~OOOG06\!,0T> (8Cl)6lJ Cl@Cln"? 

II. Answer any 6 questions from 7 to 13, II. 7 m6m>cd6 13 OJ6>©<W~ Cl@6>®tB>1e.i6o 

6 Cl.!l.lOBJ61n3CR>cB6')u ~(ffl)Cl)6)Q)'f 6m,6ca, . 
. each carries 2 scores. (6X2=12) 

7. Give any two examples of internal users ,· 7. 

of accounting information. 

8. 'Adequate provision should be provided 

to meet the baddebt losses expected in 

the next year' 

Identify the accounting concept referred 

in the given example and explain its 

impact in ascertaining the business 

profits. 

(6x2=12) 

C'G'mcB6)'06f@loof oJlru ct>6n1'3™6>S C'G'm@c\C"Ymct> 

~nJCQJ 6c8ffl)0cB6') ~6 6>S ct>6T'm" ~BOnDct>6TY)o 

rumo110 

(T'l)OWJ®cnJ~ cfb1§0cB6)S ffi~(rn))1moCDJ1 

mcm'lwow cfbct>6cmcn1> as>6cfb moA1 ruil6ffio' 

~'D ~C30nDCl)6ffi(rn))1~ ln.Jarfln.JOB!cB6') 6(1T) 

C8TO cB6')"0 GT'@1 o(J)" <U'@> Cll) cw o Cl@ffl>" ? ~ m>" 

nJ1 cm 6 s m 6 on cm" 6nll rro1 m rro" e.i o es 6> (rn)) 
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9. · What do the following journal entries 9. m~w136~ c~ro6TT)ffll <l{j)C'mlS1c£b~ 

mean? <TU~'kf)cB6>JITT> gQSn.Jos" O{B@ ? 

·' 
a) Drawings ale Dr. 8,000 

<l(j)) CLCWO<nJlocri'cru" ®'llcB6>"0E>m" Dr. 8,000 

To purchases ale 8,000 

b) Machinery ale Dr. 15,000 

To Ramlal Traders ale 15,000 
15,000 

10. Distinguish between 'debit note•· and 
10. 6>CW6ll.flA cmo3", 6>Lc£bcw1A" csmo§" 

'credit note'. <l{j)ITT>1ru 0@6nl36>m 

11. Classify the following errors in to one - 11. m~mJlco1cB6>6m> ®'llcB6>"0~oc,f 

sided errors (those affecting Trial 

Balance) and two - sided errors (those 

not affecting Trial Balance) : 
. . 

a) Errors of partial omission. 

b) Compensating Errors. 
' 

c) Errors of complete omission. 

d) Errors of carrying forward. 

oJ1'9<1.J6c£b6>~ ClfBc£bo..Jdh9!1W6>QlITT>6o 

(LSWC?m 6TlJOe.JOOcrul6>m 6TlJOuJlcB6>l,CTn<mj 

Bjlo..J~W6>1llffi\!P (LSWffll 

6TlJOe.J<m<ru16>m 6TllOuJlcB6>o<m»<m" ) cmeoo 
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12. 

13. 

Calculate the annual depreciation to be 

charged using appropriate fonnula, from 

the given details : 

a) Purchase price of machinery Rs. 

82,000 

b) Wages paid for its installation Rs. 

3,000. 

c) Scrap value Rs. I 0,000. 

d) Life of the machinery is IO years. 

Classify the following as capital and 

revenue payments :-

a) Installation charges of machinery. 

b) Annual repairs of buildings. 

c) Wages for the construction of new 

building. 

d) Purchase of Furniture for business. 

12. 

13. 

m!i[lmJ136~ n.Jl(l1)B::>o(l1)6al3§1arn m1rm6o 

ruoro~c& m /. ei l<S:di w Cffl>16) 1 ffi>6dh 

~.!2.llcmmow cru1.tcmruoc0:>jo ~o.Jcsw:xn1.9z1" 

m1ro~mJlcB6)6c&. 

Cl@) 6)Qln9lJ6TD01CW66)5 nJlei 82,000 Cl>J.o.J 

6llfl ) CTUO O oJl cB6) efl m" m arn dh 1 <W d» J.. efl 

3,000 Cl>J.o.J 

oul) ®0Lc&1 nJlei 10,000 Cl>J.o.J 

n.ul) 6)Qln9lJ6TD01<DJ66lS (GT0<DJ6©6l6)B©Cle.Jjo 

10 ruroctHo 

m6eiwm - orum j4 6>~e.Jru6c&§OmJl cmmo 

6llfl) 

cw1 ) mfl cru1 m~1 ~ ei cB6)" ®0 ru (11) l mow 

n.0ro6Tril.9z1ro ruo~wcm~ 
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Ill. Answer any 4 questions from 14 to 18, III. 14 m6cmcd6 18 (lJ6)Cl)(J2)J~ 

each carries 3 scores. (4x3=12) Cl(B6lcm&1e.i6o 4 (8AJ00jQIBci,cS6)" 

~(ffl)m6>m'9 6cm6c&. 3 cru"<8c&Oi6 n.ncmo. 

(4x3=12) 
14. Explain any 

characteristics 
information. 

three 
of 

qualitative 
accounting 14. (tffl) cB6> -n 6TYs1 o a>' n.il nHt> 6ISl'3 c.m cB6>" 

15. Pass journal entries for the following l5. 

transactions : 

a) Mr. Suresh started business with 
cash Rs. 80,000 and Furniture 
worth Rs. 20,000. 

b) Openedabankaccountwith SBJby 
depositing Rs. I 0_,000. 

c) Goods costing Rs. 5,000 given as 

charity. 

16. Kamala makes a bill of exchange on 

01/07/2018 with a term of3 months for 

Rs. 40,000, in favour of Joseph. The bill l6. 

was duly accepted and returned it to 

Kamala. The bill was duly paid on 

maturity. Identify the following from the 

given bill transaction : 

a) Name of Drawer. 

b) Name of Drawee. 

c) Date of maturity. 

~6TYsomJlco111cB6>6TYs Of86>cm&b1e.i6o m6cm" 
ro 6 6ffi n..J com ow l n..J 11 cm Jd:bcmd:bc.m 
o.Jlruco1cB6>6d:b. 

m~mJlco1cB6>l,m> ~Sn..JOSJd:b~J6>S 
11~ro6mco?i Clffi®lslce,c.m Clffi'9 6 cm 6ce,. 

Clffi) m>6<8mn!lf 80,000 COJn..J n..J6ffiCDOW6o 

20,000 C06n..JW66>S 

n.0i66m1~o6mow1 m/lcru1mc~f 

CGT0C00<€!1111J. 

6llfl} Clij)m>" 6llfl 6>Clij) 611JO&b1~ 1 0, 000 

co6n..J m111dh11n.ll~" 611JO&b" 
(tffl)cB6)'":)6JYsu mJ0COO@l.!116• 

cru1) m/lcru1m~1co?i m1cm6o 5,ooo 
co 6 n..J w 6 6> s cru ow m 6UB c.m 
cruo@orumcwocn11 m~ce,1. 

d:bllleJ m,cmJ OlOm> d:bOeJOClJU>1WJ~ 
40,000 co,n..JWJ6>S 63COl, o.Jlm10lW 6Tl.Jlgf 
1 I 7 / _2018 mu IJ~OCTUn.016>1 (Jn..J(t)1~ 

cm~ 000cB6) 6 cm 6' (tffi)<8<jn.Oo mil ~r 
(tffl)o(J)1ce,co1~" ce,meigzt cm1co16>d:b 

mco?id:bl, cm 6' d:bOeJO(lJ W16>W(ffl) 6 QICT'.J oc.m 

6llfl~6>1 n..J6ffio WLOOo.Jlc.ul eJ<€!1.!11J· 

~'":> 6llflco?i ~sa..10s1co?i m1cm6o cmo6>'9 
nJOCOJ6cmru d:b6>6TYs<m>6ce,. 

Clij)) GllCWOW066>S <8n..J<b 

mJl) l3lCWOcn1JW66>S <8n..J© 
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17. Findout the cost of goods sold from the 1 7 • o.Jlc~eoocn>6M3@om mlcm6o o.JlA 

given deatils : 

Purchases Rs. 52,000, Purchases Return 

Rs. 2,000, Opening stock Rs. 12,000, 

Closing stock Rs. 8,000, Wages Rs. 

5,000, Carriage inwards Rs. 1,000. 

18. Explain how the following items will 

shown in the final accounts of a sole 

trader: 

Iv. 

a) Bad debts written off Rs. 2200/-

b) Outstanding salary Rs. 1000/-

c) Accrued interest Rs. 600/-. 

Answer any 3 questions from 19 to 22, 

each carries 4 scores. (JX4=}2) 

19. Explain the major objectives of 

Accounting. 

20. Write short notes on the following 

m>owm6tf8™6)S ru JCWo 

c&6'1'S6o..Jlslc006ce,: 

<U<n<Z.!JzlWm>u 52,000 <t>J.<U, <U<na-9z1wm>" 

01<Z§6m> 2,000 <bJ.<U, l<UO<Oo@ <Z~Oc86> 

12,000 <OJ.<U, ffi>Q)O~ <Z~OcOOU 8,000 

<bJ.<U, <ZQJ~CTU 5,000 <bJ.<U ~JO<Z<O~" 
~rm<Zrurocu>"cru 1, ooo co,(U. 

1 e. m~kwlco1c006cm ~m6l1Bc.il> 6llllm>1mmSl6)CW 

Iv. 

ruorocti11c& U>ffi~O<OJ <3<b6lJ~~1om 

a{j) 6llB 6)(0 • ~00 6) ~ s 6 (m) 6 6) Q) emu 

o.Jlcn>C3Q)Oc00 !c&: 

a{j)) db13oc00s0 a{j)'96arll ®~1wasf 2,200 

<OJ.<U 

mJl) db6slCtR1c& cn>mJ~o 1,000 <OJ.<U 

m>1) e.iaflc00om~ nJeflcn> 600 co6<U 

19 Q)6(i))~ 22 QJ6)(1)(DJ6~ 

(3.!l.J ~ (3 J61SB ~, ~ nG3 6)(i)) IB:, 1e.J60 
m66>cm~asm1mu ~(ffl)C06>Q)'.9 6<m6db. 4 

m,Ve1ca,oi6 o.fl<mo. 

(JX4=12) 

19. fflTl) c00-n 6'1'S1ocn16) cw 
o.Jlruco1c00 6db. 

20. m ~ <ID1co1c006 cm ffl'Tl)cOO -n 6TB1 o en" 
accounting concepts: ~(n)(ID6lll36)~c00601~u e.JneJ}, c&.,601~" 

a{j)'.9 !®!db. 
a) Money measurement concepts 

b) Full disclosure concepts 

c) Consistency concepts 

d) Matching concept. 

6'fl.ll) <UJ.©6};R 6)QJ@6)~S6cm>om <O'@)cn><IDo 

m>1) <TU.01<t>as><ID66)S <6TP)cn><IDo 
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21. List out any four transactions which are 21. <J~©6TT>Clm <llo..JO~o1am CTUOW0©6TT>QlOcoJl 

usually recorded in a Journal Proper. 
~cfb6>~S6Clfrn>006~ @2So..JOS6c&.>~66>S 

moe.r ~(30o!)(t)6TT)6M300 Clij)'9 6®6«&.>. 

22. Choose only the ledger accounts having 
22 . m~cnilm1e86>6<m o..J§1c&.>cnilam m1cm6o, . 

debit balance shown in a Trail Balan~e, 
lSCllJ<lm 611.1 0 eJ m> CTU1 am 6) CU) mil ff 

from the given list : 6llJ O eJ m> (Tl) 0 mfl ~cfb6>~S6Clfrm6cm 

6>e.icw"~m CUTl) cB6) '1) 6Tm 6 c&.> cJo motcmo 
a) Opening stock 

cml©6>6mmS6Clfrm" Clij)'9 6 ®6«&.>. 

b) Purchases Return 
Clij)) ln..lO<OoCil <l~Oe86>" 

c) Carriage inwards mII) o..J«><J~m> o1<136m> · 

d) Commission Received crul} c&.>0<1m~" ~ril><1rumru.rmr 

e) Sales Return ruJl) c&.>aafl~ril> c&.>1~cu,cm" 

f) Land and Buildings @2) 6>CTUco.1lammr o1a§6m> 

g) Power and fuel 
Clij)o.DJ cruoe.iru6o 6>c&.>~sru6o 

~) @2m.um 6>~e.iru6c&.>cib 
h) Motor Vehicle 

~') <1mo<1~m ruoo.nmEimcJo 

i) Bank overdraft 
6>Clij)) 611.IO!lh 6300J© lCWOo.D"ff 

j) Loose Tools 
6>~) eJ~m> S~CRl(Tl)" 

k) Baddebts. 6>«&.>) c&.>130c86)So 
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V. Answer all question~ from 23 to 28 V. 23 ·IDl,®cd& 28 ClJ6><0(U)l,~ OQ)~O 

each carries 5 scores. (6x5=30) 

23. Enter t_he following transactions in Cash 

Book with cash and bank columns. Also 

Balance the cash book. 

2018 March 

1. Cash in hand Rs. 30,000. 

Bank overdraft Rs. 20,000 

2. .Paid into bank Rs. 10,000. 

5. Cash purchases Rs. 2,000. 

8. Cash received from Sunny Rs. 10,000. 

Cl.!2.10 C3 JQJB cJ& c86) 6 0 i CITID m 6) m '.9 6 ® c!,db. 

5 cru"'CldbOi) n.n®o (6X5=30) 

23. ffiCllT>dh1mJlm1c006cm ~So..JOSc!,dh6>~ 9Cl>c!, 

~Cl>§e&cOOO~o c£bJOo9:2"' 6Yllc!,c001Cll1> 

C&ct>6lJ 6)~5c!,Cffl> c!,dh: 

mom~"' 2018 

1. 6>6>c£bruwm~ o..J6TT>o 30,000 m6o..J 

6TlJO& sorum lCU>on.0"'A" 20,000 

5. 6>ct>OcOOo o..J6mcm>1m6~ OJ06m~ 

2,000 m6o..J 

8. cru 6™1 cnJl Cll1> m1 cm 6 o o..J 6TT> o ei @1.gA ® o 

10,000 m6o..J 

12. Cash withdrawn from bank for office use 12. sondlcru"' ®'0ClJWJcm>1m" 6TlJOIB>1Cll1> m1cm
6
o 

Rs. 8,000. 

18. Rent paid by cheque Rs. 2,000. 

20. Withdraw from bank for personal 

18. 6>.!iJcB6ileJ66>s ruosc.0:> 6>c£bos6Cffl>®"' 2,000 

m,o..J 

20. cruJ c&o m J ®'0 ru w J6m cJ& c00"' 6TlJ o EB> 1 cd& 

purpose Rs. 4,000. m1cm6o n.Jldl>ruefl_gJarl' 4,ooo m6o..J 

25. Received commission Rs. 2,000. 25. c&amio9:2cm dh1§lwas>"' 2,000 m6o..J 

28. Paid Salary Rs. ·5,000. 
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24. Prepare a Bank Reconciliation 24. nJlwBoooo6l513~1C'01l m1cm&~Jr8!!1/J1/201s 

Statement as on 31/03/2018 based on 

the given details : 

a) Balance as per Cash Book 

Rs. 26,000. 

b) 

c) 

d) 

Cheque issued but not en - cashed 

Rs. 2,000. 

Cheque deposited, but not 

collected Rs. 3,000. 

Interest credited in Pass Book only 

Rs. 200. 

- 6> eJ 63 ct> 6 6YlJ o 8:b... am> m 6 m ~ m ~ §1 db 
cm~OOO<B6\!,db, , l,rJr)g 

a@) dbjOn~f 6Yll6<B6>... ln..JdbOm:m6~ 
6YlJOe.J<mm> 26,000 m,n..J 

mJl ) m en'& ca, 1 w 6> .!l.J tB6>... 6YlJ o a➔., 1 en'& 

cru1 

cuSI) 

cuX)a!(l)OtB@O(m)@ ... 2,000 m6n..J 

6> .!l.J <B6>" 6Yll o a➔., 1 m1, m m1, db 1 w cm" 

rumru" ruipcm>cm" 3,ooo m6n..J 

., t 
n..JO<n> 6YlJ6<B6>1Clm lllOl<mo 6>ldhCW1fi 

6>.!l.J9M n..JeJlW 200 m,n..J. 
25. The following errors were found in the 

books of Suresh. Give the necessar;. 25• cru6csm~6>~ 6Tll6ce6>1Clm aJ©>OJCll>jQlOCW 

entries to correct them : 6>®fM<m'lm6cm>cd& CJal©6mClm Oij)®lS1dbc.i& 

a) Salary of Rs. 10,000 paid to Murali 

has been debited to his personal 

account. 

b) Rs. 8,000 paid for furniture 

purchased has been charged to 

purchases account. 

c) An amount of Rs. 5,000 withdrawn 

by the proprietor for his personal 

use has been debited to trade 

expenses account. 

d) Sold old furniture for Rs. 3,500 

passed through the sales book. 

e) Paid wages for the construction of 

Building debited to Wages account 

Rs. 1,00,000. 

O@'i 6®6c8:,. 

a@) Ql6(1)~1~f 10,000 m6n..J W<TlJ§o 

mm1,ca,1cwcm ... amiwo™6>s ru~oo<m. 

<Um<B6>'n6mflcda 6>CW6llllfi 6>.!l.JCW"@6. 

m.fl) o.am6lT>1~ro ruo6lfB!wcm" a,ooo m,n..J 

n..J©<J~m> (lffl)<B6>'n6f@lm1, Clffi'i6<m'I. 

cro1) ~smcruocm croJdbOmj 

aJ@>OJWjo61300<B6>" OffiS6cm> 5,000 

m, nJ ce:,~ ru s 6> .!l.J ei ru o CDJ1 

db6mc86>16>eJ'i 6 <m1. 

cwl) n..J'iCDJ o.0&6>6m~ro nllA@ ... 3,soo 

m, nJ 6> m> cn,1 m1, <Tl)- 6TlJ 6 c86>1 ~ 

<J(l)6lJ 6>~S6cm>1. 

~) 6>db§1S m1rollID06mcm>1m ... dbJefl 

mcdi,ce:,1cn,cm" 1,00,000 m6n..J ru ... 

c: ru ai <n>" ffl'0<B6>'n 6TTs1 en'& 6> cw 6YlJ1 ff 
6).!l.JCQ)(m 6· 
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26. In continuation to credit purchase of 2·6 . croowm6lf8oo c:EbS<m>1~ ruo6lf81<n><m1mv 

goods, Mr. Wilson accepted a bill drawn 

by Mr. Babu on I st March 2018 for 

Rs. 24000, payable after 3 months. On 

15/03/2018, the bill was endorsed to 

Mr. Dennis in full settlement of a debt 

of Rs. 25,000. On the due date the bill 

was dishonoured and noting charges 

amounts to Rs. 500 paid by Mr. Dennis. 

Pass Journal entries in the books of 

Babu. 

27. Amal Traders purchased a machinery 

worth Rs. 40,000 on 01/03/2015 and 

spent Rs. 5,0~0 for its installation. They 

decided to charge depreciation @ 10% 

p.a. on the Diminishing Balance Method. 

Prepare the Machinery account for the 

first three years, assuming that the books 

are closed on 31st March every year. 

nJ c:Ebmaiocw'I ru1 ~ cro6Til> ai, cm 6 aiocro 

c:EbOeJOOJwlcw~ 24,000 m,o.J<n>66>S 63([)6 

nJlm1aicw 6Ylfl~f 1/4/2018 en" mmooolc:Ebm1~" 

6llJ o 6llJ 6 ru1 m" m ~c:£b6 cm 6• ~-n 6ll!1 ~!" 
6llJ06llJ6 15/03/2018 mv 6><Wcm°lcro1m" 

25,000 

~«><J:!Oc006cmmilmomJI 6>6)c£baioo1 m~c£b1. 

Cl(D<mO~ mYOsru" ®°lw<m1cw1~ mfl~ 

m1moc£bm1c00~s6c£bCW60 6><WcrrSlcro" 500 

m, o.J <1m0316lfB" 6> .!lJ e.i ru" 

6>c:Eb0S6c006c&CW,!p 6>.!l.J~J. 6llJ06llJ6nJl6>C'@ 

6llJ6c001~ ~ruuodaiocw cz~ro6m~ 

Cl(j)m>tslc&oo Cl(D~ 6®6<&. 

27 .. mmai~ cztsczcw~"cro" 1/ 3/ 2ois mo 

40,000 m,nJ<n>66>S 63CDJ 6>'21o9/16mo1 

ruo6ml, cruooo.Jlc:B6l6cmcm'lmowfl 5,ooo 

m4o.J CW6o '216Sc:B6l1. CU>1 ai1 m1o9116lf8" 

6llJOe.Jril>m>" m1<m1co.flrn'6, 10% ruoroo91ltfh 

m1mc001~ ai,eid~cwo 

tfh6m c000 c00 6 cm <m1 m" mm ru ro 

~m6mom1~6. ~o rurottMru6o aioro.9z1" 

- 3 1 m" ru ::> ro oi1'1 ce:, c& 6m c:B6l 6 c£b cm 

<m~oooc006cm66>rucm mmm6mommm1~ 

<UTP> e d m, cm 6 ru «>ttM 6> ©Yi!) 6> m o91l 6m o1 

C!JmcB6>'n6lS" ®~000'86> Jc:Eb. 
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28. Following information are available in 28. m ~c:.0:, 1 coil ro1 <B6> & cm ls w ~ 6YlJ o e.i cm cru .. 

the Trial Balance of a firm - o.Jlruro6mcm : 

Ledgers Rs. 6>eirufsim ro•n..J 

Debtors 72,000 6)CU>6YlJ"~91:Pm.>" 72,000 

Bad debts 4,000 6YlJ06)~n..J"ficru" 4,000 

Provision for Doubtful Debts 3,000 6YlJ06)~n..J"Acru" 6>ln..JOoJl~oo 3,000 

Adjustments : 

a) Additional bad debts Rs. 1,000/-. 

b) Provision for Doubtful Debts @ 

,;. 

5% p.a. Pass necessary adjusting 
... 

and transfer entries for the above 

adjustments. 
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VI. Answer any 1 question from 29 to 30, VI. 29 m6~ 30 OJ6'><Da»~ Cl!iJOB~~af6 . 

each carries 8 scores. (lx8=8) Cl(B 6'>fflHB, 1 e.J6o 1 0@6mcm>1m" 

i<ffl>(t)6'>Ql'.9 6as>6c:a,. 8 m>"(Jc:a,oif, n11as>o 

29. The following are the balances extracted (lx8=8) 

from the books of Mrs. Shija as on 
29. 6'> 6'> n!i sen, 6 6> s 31/ 03/ 2018 6'>e.t 

31/03/2018. 6'> e.J CU)" !a <t> «m> ce6'> "O 6n'5" 6Yll O e.t C'ro <TU cl, db c.i& 

Debit Balances Rs. 
®06'>':P mcef6cfb1coJlet>1c96) 6cm6. 

Drawings 40,000 
6'>ru.> 6Yll'I ff 6YlJ o e.i cm m> 6c:a, cJ6 (t) 4LnJ 

Cashin Hand 17,000. 
cmcmcuA" 40,000 

Cash at Bank 65,000 
6'>6'>cfbnJ(J!)m~ n..l6TT)o 17,000 

6Yll0~1e.t~ n.J6mo 65,000 
Wages 10,000 

cfb.\efl 10,000 
Purchases 20,000 

o.J({)(J~(ID"m>" 20,000 
Opening Stock ,60,000 

ln..lOCt>o@ (J~Oc:86> 60,000 
Buildings 1,00,000 

mllcef6ru51oro"m>" 1,00,000 
Sundry Debtors 44,000 

6')(U)6YlJ"(JAlf"cru~ 44,000 

Bills Receivable 29,000 
mllcef6m>" o1mSlruml1c.i& 29,000 

Rent 4,500 
nJOScib 4,500 

Commission 2,500 
cibonrln!icm 2,500 

General Expenses 8,000 
l!affiOl&> Q@dbCTl)6'>n..JC'ro<Tl)" 8,000 

Furniture 5,000 
n!lro6m1~ro 5,000 

Total 4,05,000 ~6')cfh 4,05,000 
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Credit Balance Rs. 6> ldbCW1 ff 6TlJ :> ei cm cru l,dbc! ~ 6 nJ ., 
Capital 2,00,000 

Sales 1,60,000 
ai~e.iwmo 2,00,000 

Sundry Creditors 45,000 6)m)<DJ1Clrnm>" 1,60,000 

Total 4,05,000 

~6}tB;, 4,05,000 

Additional information : 

a) Closing stock Rs. 40,000. <l(j)) ffi>QlO~ ~~Oc:86)16)~ nJle.J 40,000 

b) Depreciate buildings by 5% p.a. 

c) Write offbaddebts Rs. 1,000. 

d) Wages yet to be paid Rs. 1,000. 

e) Rent Prepaid Rs. 500. 

Prepare Trading and Profit and Loss 

Account and Balance sheet as on 

31/3/2018. 31/3/ 201a -6)eJ ru~onJom, e.io@ - m~ 
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following-

. Pa,ss necessary adjustment entries for Clij)) dbJ.eil c&.,6sl(t81c& 400 Cl>J.n.J 

the following : m.Jl) m6cioc&.,6/n (11)m.J~o 5,000 m6n.J 

a) Outstanding Wages Rs. 400. cru1) CTUQK)?i,j <l~Oc86)16'~ nJleJ 12,800 

b) Prepaid salary Rs. 5,000. Cl>J.n.J 

c) Closing stock valued at Rs. 12,800. 
ruJ1) ce:,13om~ n.JeJ1(11) 1,soo m6o.J 

d) Accrued interest Rs. 1,800. 
~) m6 cfoce:,~ · e.1@141 c£➔.ianilo,9j cfo 2, 1 o o 

©J.o.J 

e) Unearned commission Rs. 2, I 00. 
Clij)n.OJ CTU o (11) CD) 0 Cffi C3 ce:,scm>1m6~ 

t) Provision created at 5% of Debtors an m 6 cm Clf& 6> ruJ mJ<1~16) 1 5 % 

for doubtful debts. (Book value of ( 6)(U)6Jlr(g w 6)~ ml te6>1 cwl m1 c~:f 

debtors was Rs. 60,000.) 
®6c&., 60,000 Cl>J.n.J) 

g) Depreciaton of Machinery @ 
~) 6>Q)~6fl>01W66>S m6e.JJc8mWo 

ln.J®10J«>o!io 1096 m1mte6>1m'6 
I 0%p.a (Book value ofMachinery 

(6>Q)~6ll>01W66>S 6llJ6te6>" nJle.J 
was Rs. 43,200) 

43,2000 <l>J.n.J) 

h) Write offbaddebts of Rs. 700. Clij)4IJ an13ote6>So O(i)l:P 6an1cm><Z~Emcm" 

700 <bJ.n.J 
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